GSE Algebra 1					HW #1.9/1.10					Name: 

See if you can fill out the necessary information for the tables below. Be sure to show all your work!
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11) For the following, you are given a specific section of a problem. Fill in all the empty parts that you need. 
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[image: ]12) For the following arithmetic sequences, find the missing terms. 
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13) Given the recursive function for the following arithmetic sequence, create the explicit. 
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14) For the following, you are given a specific section of a problem. Fill in all the empty parts that you need.
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15)  Fill in the missing terms for the followin geometric sequences. Then create the explicit equation. 
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16) For the following, fill in the chart according to the right sequence. Then answer the following questions. 
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[bookmark: _GoBack]b) Create the recursive and explicit for each sequence above. 
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FO)=f-1)-2f1) =8
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fo)=f-1+1; f(1)=2
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Recursive Equation:

Explicit Equa
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Arithmetic sequence: £(1) = 64, common difference, d =
Geometric sequence: g(1) = 64, common ratio, r
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‘Arithmetic Geometric
fQ)= FIOE
f@= 92) =
@)= 9B3) =
f@= 9(4)
fG) = 96) =

a) Which value do you think will be more, £ (100) or g(100)?

b) Why?
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Function C

11. To find the next term:

12. Recursive rule:

13. To find the n* term:

mu\.‘un-x

14. Explicit rule:

15. Arithmetic, geometric, or neither?
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Function E

21. To find the next term:

22. Recursive rule:

23. To find the n term:

24. Explicit rule:

25. Arithmetic, geometric, or neither?
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Create a context
Janet wants to know how many seats are in
each row of the theater. Jamal lets her know
that each row has 2 seats more than the
row in front of it. The first row has 14 seats.
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Recursive Equation:
Explicit Equation:

Table




